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Coding Decoding Questions for IBPS Clerk Mains, SBI Clerk
Mains, IBPS SO Pre, SBI PO Pre, IBPS PO Pre and RRB Scale | Pre
Exams.

Coding Decoding Quiz 25

Directions: Read the following information carefully and answer the questions given below.

"Music is natural medicine" is coded as "5#U 27 7&A 8*E"
"Eating vegetable makes healthy" is coded as "6SE 9=E 5#A 7&E"
"Health and Money balance" is coded as "6SE 3%A 5#0 7&A"
"Life extra wonderful now" is coded as "4@| 5#E 9=0 3%0"

1. What is the code for "Balanced diet"?

A. 8*ES5@E B. 7&A 5@I C.8*A 4@l D. 8*B4@E E. Can't be determined

2. What would be the code for "Weather"?

A. 6&E B. 7&A C.7&E D. 6SA E. None of these
3. What would be the code for "Climatic condition"?
A.8%*)9=0 B. 9*1 8=0 C.8*)9=P D. 8*%19=0 E. Can't be determined

4. What is the code for "Melody"?

A. 6SE B. 520 C. 6%E D. 7&0 E. None of these
5. What would be the code for "Snow"?
A.4@W B.3@0 C.4S0 D. 6SO E. None of these

Correct Answers:




Common Explanation :
The given words are coded as per the following pattern:

1. The digit in the code represents the number of letters in the word.
For example: In word "DIGIT", there are 5 letters, so the code will begin with 5.

2. The symbol in the code is based upon the following table.

No. of letters symbol
in the word
2 /AN
3 %
4 @
5 #
6 S
7 &
8 *
9 =

For example: In word "DIGIT" the number of letters are 5, so the middle code would be #.

3. The letter in the code represents the first vowel from left end in the given word.
For example: In word "DIGIT" the first vowel from left end is I, so the code will end with I.
Hence the code for "DIGIT" is "5#I".

Explanations:

1. Following the common explanation it is clear that "Balanced diet" will be coded as "8*A 4@I".
Hence option Cis the correct answer.

2. Following the common explanation it is clear that "Weather" will be coded as "7&E".
Hence option C is the correct answer.

3. Following the common explanation it is clear that "Climatic condition" will be coded as "8*I 9=0".
Hence option D is the correct answer.

4, Following the common explanation it is clear that "Melody" will be coded as "6SE".
Hence option A is the correct answer.

5. Following the common explanation it is clear that "Snow" will be coded as "4@0".
Hence option E is the correct answer.
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